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UPSC CSAT

PREVIOUS YEAR QUESTIONS: LOGICAL PUZZLE
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Directions (Q.No. 1-4): The following
description is for next four questions:

UPSC-2004
Amit wants to purchase a magazine, four
magazines on different subjects are available to
select from: politics, sports, science and films.
These magazines are edited by Feroze, Gurbaksh,
Swami and Ia (not necessarily in the same
order ). These magazines are published by Aryan,
Bharat, Charan and Dev publishers (not necessary
in the same order ). It is also given...

e Dev Publisher published the magazine

edited by Feroze.

e Political magazine is published by Aryan
publisher.

e Film magazine is edited by Swami and has
not published by Charan

e Science magazine is edited by Ila

Select the correct answers for the next set
of four questions.

Science magazine is published by...

(a) Aryan publisher

(b) Bharat publisher

(¢) Charan publisher

(d) Dev publisher

Sports magazine is..

(a) Edited by Feroze

(b) Edited by Gurbaksh

(¢) Published by Bharat publisher
(d) Published by Charan publisher

Film magazine is...

(a) Published by Dev publisher

(b) Published by Bharat publisher
(¢) Edited by Gurbaksh

(d) Published by Charan publisher
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Political magazine is...

(a) Edited by Ila

(b) Edited by Gurbaksh

(c) Published by Dev publisher

(d) Published by Charan publisher

Directions (Q.No. 5-8): The following

description is for next set of four questions:
UPSC-2005

The home towns of Gopal, Harsh, Inder, Jai and

Krishnan are in Ahmedabad, Bhopal, Cuttack,

Delhi and Ernakulam (not necessarily in the same

order ). They are studying in engineering, History,

Economics, Medicines and commerce colleges

(not necessarily in the same order ). None of the

boys are studying in his home tows, but every boy

in studying in one of the above mentioned towns.

Itis also given...

The home town of Gopal is Ernakulam

Harsh is not studying in Ahmedabad or Bhopal

The college of economics is in Bhopal

The home town of Inder is in Cuttack

Krishnan is studying in Delhi

Jay is studying in Ernakulam and the college of

history is located in his home town Ahmedabad

e Engineering college is in Ernakulam

Based on the information given above
select correct answers.

Which is the home town of Krishnan ?

(a) Ahmedabad

(b) Cuttack

(¢) Bhopal

(d) Cannot be ascertained

Which college is located in the hometown
of Inder ?

(a) Commerce college

(b) Medical college

(¢) Economics college

(d) Commerce or Medical college
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Who is studying in Bhopal ?

(a) Gopal
(b) Harsh
(¢) Gopal or Inder
(d) Inder or Harsh

If Inder is studying in Ahmedabad, which
one of the following person-home town-
place of studying is correctly matched ?

(a) Bhopal-Ernakulam-Delhi

(b) Jay-Ahmedabad-Ernakulam
(¢) Krishnan-Delhi Ernakulam
(d) Harsh-Bhopal-Delhi

In five flats, one above the other, live
five professionals. The professor has to
go up to meet his IAS officer friend.
The doctor is equally friendly to all
and has to go up as frequently as go
down. The engineer has to go up to meet
his MLA friend above whose flat lives
the professor’s friend. UPSC-2012
From the ground floor to the top floor in
what order do the five professionals live ?

(@)  Engineer, Professor, Doctor, IAS officer, MLA.
(b)  Professor, Engineer, Doctor, IAS officer, MLA.
(¢c)  IAS officer, Engineer, Doctor, Professor, MLA.
(d)  Professor, Engineer, Doctor, MLA, IAS Officer.

In a group of six women there are four dancers,
four vocal musicians, one actress and three
violinists. Girija and Vanaja are among the
violinists while Jalaja and Shailaja do not know
how to play on the violin. Shailaja and Tanuja
are among the dancers. Jalaja, Vanaja, Shailaja
and Tanuja are all vocal musicians and two of
them are also violinists. UPSC-2014

fehes weferat
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If Pooja is an actress, who among the following
is certainly a dancer and a violinist ?

(a) Jalaja
(b) Pooja
(¢) Tanuja
(d) Shailaja

Direction (Q.No. 11-13): Consider the given

information and answer the three items that follow.
UPSC-2016

When three friends A, B and C met, it was

found that each of them wore an outer garment

of a different colour. In random order, the

garments are: jacket, sweater and tie; and the

colours are: blue, white and black. Their

surnames in random order are: Ribeiro, Kumar

and Singh. Further, we know that:

Neither B nor Ribeiro wore a white sweater

C wore a tie

Singh’s garment was not white

Kumar does not wear a jacket

Ribeiro does not like to wear the black colour

Each of the friends wore only one outer

garment of only one colour.

What is C’s surname ?

(a) Ribeiro

(b) Kumar

(¢) Singh

(d) Cannot be determined
What is the colour of the tie ?
(a) Black

(b) Blue

(c) White

(d) Cannot be determined
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Who wore the sweater ?

(a) A

(b) B

(c) C

(d) Cannot be determined

Directions for the following 6 (six)items:

Read the information given below and

answer the six items that follow. UPSC-2018

A, B, C and D are students. They are studying in

four different cities, viz.,, P, Q, R and S (not

necessarily in that order ). They are studying in

Science college, Arts college, Commerce college

and Engineering college (not necessarily in that

order ), which are situated in four different States,

viz., Gujarat, Rajasthan, Assam and Kerala (not

necessarily in that order ). Further, it is given that-

(i). D isstudying in Assam

(ii). Arts college is located in city S which is in
Rajasthan

(iii). A is studying in Commerce college

(iv). B is studying in city Q

(v). Science college is located in Kerala

A is studying in

(a) Rajasthan
(b) Gujarat
(c) cityQ

(d) Kerala

Science college is located in

(a) city Q
(b) city S
(¢) city R
(d) city P

Cis studying in

(a) Science college
(b) Rajasthan

(¢) Gujarat

(d) city Q
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Q17. ﬁm%@aﬁﬁaﬁ?—mwﬁ%? Q17. Which one of the following statements is
correct ?
(a) DIEXS ﬁﬁ%@%l (a) D isnot studying in city S.
(b) A WEH et | qe Il 2l (b) A is studying in Science college.
(c) A A o Te L&l gl (c) A isstudying in Kerala.
(d) ESEIET Hieist TorTa 4 feod 2 | (d) Engineering college is located in Gujarat.
Q 18. TSI-AMAT hicist o Waiel |, fAfaiRad § ¥ Q 18. Which one of the following statements is
ﬁ?-mqaamﬂ?r%? correct regarding Engineering college ?
(@) C T TG IR (a) C is studying there.
(b) B W%W%\I (b) B is studying there.
() TR ) (c) Tt is located in Gujarat.
(d) D aﬁ%@%l (d) D is studying there
Q 19. ﬁﬁ%@ﬁ%ﬁﬁﬁﬂﬁ?—W@ﬂﬁ%’ Q 19. Which one of the following statements is
correct?
(a) SN et ey o @ (a) Engineering is located in Assam.
(b) T Q 3IHH T frorq 81 (b) City Q is situated in Assam
(c) C AT UG WL (¢c) Cisstudying in kerala.
(d B {Fl'{l?rﬁ qe wWE (d) B is studying in Gujarat.
Q20. WA YE® P, Q, R, S,T,U 3R V WII-WII W Q20. Seven books P, Q, R, S, T, U and V are placed
%I R, Q 37X T & a7 T-ﬁﬁ'% 3 3T Wﬂﬁ' side by side. R, Q and T have blue covers and
o AT ATA T h ¢ | heler S AR U ?’5“33?@3% other books have red covers.Only Sand U are
3R ﬁﬁww%l P, R 3R s fafa fue ¢ new books and the rest are old. P, Rand S are
Y TRAfER %I T STMERUT ot ETIT:]' TSfesR law reports; the rest are Gazetteers Books of
ﬁ?—ﬁ% ? UPSC-2021 old gazetteers with blue-covers UPSC-2021
(@ Q3WR (@) QRR
b)) Q¥RU ) QRU
© Q3RT ©) QIRT
@ T3IRU @ T3RU
06 arfehen weferat
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LOGICAL PUZZLE PYQ ANSWER KEY

Q1. ¢ Q8. b Q15. a
Q2. a Q9. d Q16. b
Q3. b Q10. c Q17. a
Q4. b Q11. c Q18. d
Q5. c¢ Q12. a Q19. a
Q6. d Q13. b Q20. c
Q7. c Q14. b
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